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Now for FSM execution.
Remember that
°a_char has the character
ojust read from the stream
o (one per loop iteration / FSM transition).

if (('a' <= a_char &s&
'z' >= a char) ||
(0 < word len &&

('-' == a_char ||

Al T —
L £ \ == a char))) {
if ( ) { -
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A = word started? V = valid character if ( /* wvalid */ )
B = letter? 7 AB
C = hyphen? 00 01 11 10
4 \
D = apostrophe? 0 0|1 (1)0
4 \
o1| 0 || x || x| 1 } el (
CD else
=B+ o s D . .

V=B+AC+AD 1l x | x (x| x) ) { continue; }
V=B+A (C+D) }

100 (x Ix) 1)
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